Accelerated Geometry

Circles Review

1) Write the eduation of a circle in standard form with
center (0, 6) and r = 37
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2) Write the equation of a circle inigenéréﬁ form with |
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j 3)*Wh7aﬂt7isrthe center and radius of the following circle?
(x -9 +y? = 98
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4) What is the center and radius of the followmg
circle?
x2—6x+y2+9y= 1
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5) Find the center and radius of the following circle?
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6) Write the equation of the following circle in

standard form: ________ﬂ_,___,__—__——\
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7) Find each measure.
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8) Find each measure.
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9) Does the | pomt ( 4 4) lie i m on or outside of the circle
centered at (3, -5) and containing the point (5, 2)?

\a

10) Find the measure of the arc or angle indicated
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' 11) Solve for x 1 N ) 4 12) Find the measure of the arc or angle indicated
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) Find x, y, z \ gz 14) Find the measure of the arc or angle indicated
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) Solve for x.
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16) Solve for x.
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17) Ifm < 2 = 72 and mBC = 106, findm < 1
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18) Find the exact circumference given the area of the
circle
area = 16T mi?
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19) Find the length of the arc as an exact measurement. 20) Find the area of the sector as an exact
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ilr) Find the length of the radius as an exact measurement.
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22) Find the length of the radius as an approximate
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23) 24) Find the measure of the central angle. Round to j

In the diagram, the larger of the two concentric circles

the nearest tenth.

4.q= a2 (W) B

has radius 5. and the smaller civele has radius 2. A
Whatis the area of the shaded region in terms of =2 4.2 ft /:2;_1;(__)—’ /
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Urde: A= ()2

Re.u-anstg S A=Q.0

[27) ) [ 28) .
Find UT I1a)= / Find mDE -
Y X e TG
R Jx~24 7 (Y
N 0= xH 4O R
\ 4 L |
VAN - D/ 11+4x]|
;\ 8 \ (- O 1MO 5) /A X;‘
F \\ » N - / "l,' 1 \ |
NS - -\, Z Loy . '
\sl\ 4 X [ | “.\ J‘ //‘ 146 ]\
ST — N .; y |
‘:\‘“\ y-3= ({) \ ‘\ﬁ.lLv j’ P / ' “
AN . PN |
DH+HEX FUXYAL YL =500
12X +193 =210
35 o L 2Ax= 1w X"Mﬁ]
L (ox (p)= 2730) Find SR /
Find F'S 5
| 1§y 2H1EX = D10 R
S 5 - E
o~ X-540=0 3x=3 7 |
yd ]1 “\% Xt gﬁ N - %13
L N\ IB(xFX80)=0 Z—,
/ (X | S~ | ¢
i l[ — \\! U\, U} b(’ —6‘) - O y / i |
l‘ F]l ,/—”"'f "f I
N ey e | 5| |
R v:/_ 27 \3)[ + 3// ‘I‘\ 'l '/"[
\,\.‘. & \\"’ i/
\“—~._h_ _/L// ?\ "-\‘\ _’//_,-' L P
0 Bt =237y
AXTHEX +Q =204
0\ X1+|7x-—§\5';o
z - 29> QO
30) Romymd to the nearest tenth. 31) - ;XL ):;:;((\?_5j =0
3) Find the area of the shaded region- K= - —
- Find the area of the shaded region
Circle.:
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